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Math 100 — WORKSHEET 3
LIMITS AT INFINITY; CONTINUITY

1. THE SQUEEZE THEOREM

(1) limg_yg 2° sin (-g-) | |
For A xfo, B —ISS\'n(E)s\' o Xx30
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(2) (Final, 2014) Suppose that 8z < f(z) < x? + 16 for
all z > 0. Find lim, 4 f(z).
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2. LIMITS AT INFINITY
(1) Evaluate the followmf limits:

!
( ) hm:c—>oo z il —( X3(1+”x9) L (l'* /3(2 )_ e
“ tormll,, % x2 _ *?“((7'7‘) . - 11
Cformalhy, XaL X
1) "y X X X5 ‘o
()=}
(b) (Flnal 2015) limy o0 2;’3_‘5; - = XA
z(‘}" —- XL ni’_’ol X! ('.,. L))( __,_ ‘J'J')E
- (\ \XL +i°%‘
(¢) (Quiz, 2015) limg o \/ﬁ—zx _ X—:‘?m 0. "_"_?- o
3)( | % 3>( +0%0

oy 22 )
'y My > ‘QfXS-Y —2)( W»—‘Zx "'%X ‘ZX 4X 4_
g S *co w\)l 4‘)(} X3(4'Xz)ﬁ+ 4_.[’_()
J () ime e 500 =  axky - Vaxt (|, L
X7 Sho ) m ¥ 2k

x&emx

3
>o (*' (xwv - (A
)(,:ij axx - Zx X 420 (_2,()\[*"‘ Far e \/':

> ;
" Yo -2 2




Formly: Ceboct vae of yroubh fron finchon
= X(lrx) W 2ex(b )
v R 5 2/, 2
X’\'I-X(\—)-%(-z | XFZ 2 X (\;-&-()

: Lo, )((l'f’i) live [+ l+o

Noke:r VX' - M,gx b

-N  Y<o

p X0 ey M&"'H’f; lixdy 2 —2x

Il

Uvo éx = B
X =) o [

kv Q/y= (v 6.5 ~°
X0” X0




CQ)W\“M(‘LV, 2 Vo{n ‘“)
W £ covimmous fon on wkownl, on IR)
0 at oty ealount poivt X, ‘,:';‘,;f“’ ist;
o Lghals  Pix,)

ﬁ, l ‘l y_.,.o
(1) ¥ ‘Vﬂ:? Ox A= o

—f{x) .-gl X<o

ONe S A ¥So



Yoct: & £ s dofine L’ﬂ fomu.(g,
£ 65 o whowk th formek mades Wse



